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(return type)

int FunctionName( char *ptr, int len)

{
e \ & |

}
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Add() &7}, =58t -?-Iil}

int Add(int a, int b)

{
int result = a+b;
return result;

}

int main()

{
Add( 3, 4);
return 0;

}

o] QA

‘SEEMOA 22 M
| compilerOiiAl FEE I

int Add( int a, int b );

int main() Add() &7} A

{ S=8 fIx| 2L}
Add( 3, 4); oj2jofl Sle==z
return 0;

compile 27! )

}

int Add(int a, int b)

{
int result = a+b;
return result;

}
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int FunctionName( char *ptr, int len );
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(functionadd2.c)

#include <stdio.h>
int main(void) { 5t g
inta=3,b=25; =
int add2(int a, int b); —— A 0§74 0|22 M2 Jhs

int sum = add?2(a, b); (S A 33 Atsh
printf("gl: %d#n", sum); ) -Htsl EFQI0O) SHe H4e0f Hish Zf K E

return O; _OIXEO| 7l ==, =X, EIY SEF7|

}
int add2(int a, int b) {

int sum = a + b;
return (sum);
} — —
int findMin2(int x, int y) { ! 20| BIMEEE 0| %H'k‘J
intmin = x <y?x:y;
return (min);
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(getsum.c)
#define _CRT_SECURE_NO_WARNINGS
#include <stdio.h> Rl

Int getsum(int);

. >0 10| A n77kX| 2] ¢
int main(void) { 10l A 377}X| 2] &t
iInt max = O;

printf("TH A n7HX|2Pgt S 7 nS YESAL. >> ");
scanf("%d", &max);
printf("101|)\1 %d7t K| 2] 2t F%dn”, max, getsum(max));
return O;

}

int getsum(int n) {

int sum = 0;
for (inti =11 <=n;1++)
sum += I

return sum;




int Add(int a, int b)
{
int result = a+b;
return result;

}

int main()

{

Add( 3, 4);
return 0;

o|gt @ = (call by value) :
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(functioncall.c)

#include <stdio.h>
int add2(int a, int b);
int findMax2(int, int);
void printMin(int, int);

int main(void) {
inta=3,b=25;

int max = findMax2(a, b);
printf("Z[CH: %d¥n", max);
printf("€}: %dWn", add2(a, b));

=
—

printMin(2, 5);{ E*%E‘i'ﬁ
return O; 5T
) B
2| 5
o 8
XA 2

int add2(int a, int b) {
int sum = a + b;
return (sum);

}

int findMax2(int a, int b) {
intmax =a>b?a:b;
return max;

}

int findMin2(int x, int y) {
INntmin = x <y?x:y,
return (min);

}

>void printMin(int a, int b) {

iIntmn=a<b?a:b;

printf("Z| 2 %d¥Wn", min);

return; //8EF TS
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#include <stdio.h>
Int sumary(int *ary, int SIZE);

int sumaryf(int ary[], int SIZE); ]

o &3,

int main(void) { [724]‘_!}]
int point[] = { 95, 88, 76, 54, 85, 33, 65, 78, 99, 82 }; 0| O Of| A
int *address = point; ste 755
int aryLength = sizeof(point) / sizeof(int); 3;0 755
int sum = 0O; S

for (inti =0;1 < aryLength;}(SUm += *(point++);//2F
sum += *(point + i) _sum += *(address++),//7tS

rot
It
rlo

printf("H[ 10| A o 22 %d¥n", sum);

address = point;
O o

printf("& 2 %dWn", sumary(point, aryLength));
O o

printf("2f 2 %dWn", sumary(&point[0], aryLength));
printf("2f 2 %dWn", sumary(address, aryLength));

return 0 Sh0llA HHE QIX} A}

)

int sumary(int *ary, int SIZE) { §3}7|
int sum = O;

for (inti = 0; i < SIZE, i++) {
SUM += *ary++ sum +=ary[i] //7tS ]

) sum += *(ary + i); //7ts
sum += *(ary++); //7ts

return sum;

(arrayparam.c)
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(twodarrayfunction.c)

#include <stdio.h>

double sum(double data[][3], int, int);

void printarray(double data[][3], int, int);

Int main(void) {
double x[][3] = {{1,2,3}{7,8,9}{4,5 6}{10, 11,12} };
Int rowsize = sizeof(x) / sizeof(x[0]); o] Hj ol B £QF ¥ &
int colsize = sizeof(x[0]) / sizeof(x[0][O]); ‘[ZX 2 S ® e 2 T]
printf("2Xt& HIE2| Xtz gt2 Cr2dr &= LIChwn");
printarray(x, rowsize, colsize);
printf("2XH2 HHE A2 %.3If LLICEWN", sum(x, rowsize, colsize));

return O; | 14 p
} 2KHQl HY ol RER 2 ChHe ot ZH&L|Ct

1A x[0][0] = 1.00 x[0][1] = 2.00 x[0][2] = 3.0
2R A: x[1][0] = 7.00 x[1][1] = 8.00 x[1][2] = 900
3R A: x[2][0] = 4.00 x[2][1] = 5.00 x[2][2] = 6.0
424 x[3][0] = 10.00 x[3][1] = 11.00 x[3][2] =
12.00
YKFQl HiE QASHS 78 000 Q! L|CH
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(twodarrayfunction.c)

double sum(double(*data)[3], int rowsize, int colsize) {
double total = 0;
for (inti = 0; 1 < rowsize; i++)
for (intj = 0; j < colsize; j++)

total += data[i][j]'/\
return totall (yjorzre o oot 34
double sum(double data[][3], int rowsize, int colsize)

}

void printarray(double(*data)[3], int rowsize, int colsize) {
for (inti = 0; i < rowsize; i++) {
printf("% d & A" 0+ 1)
for (intj =0;j < coIsize;j++)

printf("x[%d][%d] =ﬁ|f\l J, data[il[j]);
, PN Cyege o s gesis 9
orintf("wn") void printarray(double data[][3], int rowsize, int colsize)

}
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(factorial.c)

#include <stdio.h>
int factorial(int); /&t $=2S

Int main(void) {
for (inti=1;i <= 10; i++)

printf("%2d! = %dWn", i, factorial(i));

return O;

}

int factorial(int number) {
If (number <= 1)
return 1;
else

return (number * factorial(number - 1));

[2 1]

1 =1

21 =2
3l=06

41 = 24

5! =120

ol = 720

/1 = 5040
8! = 40320
9l = 362880
10! = 3628800
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® &= rand()E AlS5i2{H---
#include <stdlib.h>
® Visual C++0j|A{= &= rand()
. 0~ 32767(RAND_MAX=0x7fff)Al0|2] B+ SOAM UeZ £+
¢ OHH LiE CIEHA| MM 512{™
o A|E=E(seed)zi(tE CI2HA| DHET]| fIsH HS0| XIH™sI= )= O0f
tH C2 A F0f &t.
® srand(time(NULL)); 18] &= -> rand(); Ng| &=
¢ [ CIE seed 2= XI™SH7]| 2l &+ time() 0|2
® time(NULL) : 19704 1& 1 0| STVIX| A=l A|ZHE = T
¢ = dizEl
® #include <time.h>
¢ altlM b7IX|e] Li+E WMA|IF7|= g
@ rand() % (b-a+1) +a
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(srand.c)
#include <stdlib.h> //rand(), srand() & £t 01| Gt Esh
#include <time.h> //time()S {3t 3 I:‘IJl | =
#define MAX 100
[2 1]

int main(void) { T~

long seconds = (long)time(NULL); 92

srand(seconds);

printf("1 ~ %5d AFO|2| === 57H:Wn", MAX);
for(inti =0;1<5;1++4)

printf("%5d ", rand() % MAX + 1);
puts(");

return O;
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(math.c)

#include <stdio.h>
#include <math.h> //a=<f 2t CHAor S5||H Zo §f| ot
int main(void) {
printf(" i iM& iMAE M
printf("------------- e Wn");
for(inti=3;1<7;1++4)
printf("%3d %7.1f %9.1f %9.1tWn", i, pow(i, 2), pow(i, 3), sqrt(i));

ru
)
QO
=
*
)

printf("Wn"); [Z 1}
printf("exp(1.0) == %5.2f, ", exp(1.0)); i idE MANE NE&S-
printf("pow(2.72, 1.0) == %5.2f, ", pow(2.72, 1.0)); .
printf("sqrt(49) == %5.2fWn", sqrt(49)); 3 90 270 1
printf("abs(-10) == %5d, ", abs(-10)); 4 160 640 2
printf("ceil(7.1) == %5.2f, ", ceil(7.1)); 5 250 1250 p
printf("floor(6.9) == %5.2f#n", floor(6.9)); 6 360 2160 y
return O;

} exp(1.0) == 2.72, pow(2

abs(-10) == 10, ceil(7.1
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(char.c)

) NE=Ey
1 S OF L /= L = o
. B Xl olgd =
#include <ctype.h> gé Z —.tﬁ—é—FEanter A
void print2char(char); E.';_'o.'erg'Enter y
: . . L H = T
it main(void) { oi21: x, Bigk X
printf("¥ LB (Z=2x) L= CHE A1 Y HotA 2 .wn");
do {
printf("=At 18 ¥ Enter: ");
scanf("%c", &ch);
getchar(); //enter 7| ¥ &S
if (isalpha(ch))
print2char(ch);
else

printf(" & =: %c#n", ch);
} while (ch 1= 'x' && ch = 'X"); //®¥ 80| x E= X0|H T =
return O;
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(char.c)

void print2char(char ch) {
if (isupper(ch))
printf("2 &: %c, HEZF: %cWn", ch, tolower(ch));
else
printf("& =: %c, B2t %c#n", ch, toupper(ch));

return;
}
[Z1}]
QUtEl(ES Ex) = CHE =4 Y852
=X &= 2 Enter: A
QA A Bi=t g
=At &= 2 Enter: x
AH: x, H3t X




